5/14

T Uoooooobood

oooooooooooooobooooooooooooOoooooooDooboOooooOooOooooOooOoooDooboOoo
ooooooooooooo

coooooOooooooooooOooooOooooooOoooooOoOo 20000OoDOOOOOOOOOn
oooooooooooooon

help spectrogram U0 U0 D00O00OO0DOO0ODOO0ODOODLOOODO

S = SPECTROGRAM(X,WINDOW,NOVERLAP)

goooogg

OO071y0O0O0OO00D0OOO0OO0OO0ODOOOOOOOOOOOOODOOOODOO

>> spectrogram(y, hann(il), i2, ’yaxis’)

goo i1, 200000000
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8 Uuuboboond

oboooooobooboobooobooboooboooooooboobooboooooboooobooboooboonog

>> Fs=8000;

>> t=0:1/Fs:1-1/Fs;

>> s=sin(2*pi*800*t)+sin(2*pi*500*t); 7 UO0OOOOOOOOOOORZ
>> soundsc(s,Fs)

>> subplot(3,1,1); plot(s(1:100));

>> sd=wshift(1,s,-5); 4 s O 5 000000

>> subplot(3,1,2); plot(sd(1:100));

>> soundsc(sd,Fs)

>> ss=s+sd;

>> subplot(3,1,3); plot(ss(1:100));

>> soundsc(s,Fs)

subplot 00000000 ODUO0OUDOOUUO0OO(O0OUDOOD help subplot DOODO)
oo0s81500000000000000000000000O0DO0DODOOOOOOOOOODOOOOY
0oos820000000000000000DOOOODO?

gboooooboooooooboobooobooboooooooboobooobooboboobooboboOoboooboonoog

ubboobobooboobooooooboboooobooboboooogon
booobooboboooobooboboboboooboboooooboobobooooobOoooobobOobn

ooos0000000000000O00O0O0O0O0R=1[1000O01]10000O0OOODOOODOODOOOOC

h(1) DOOOOOOOOOOnGe) 0O n(1 +5) 0000000 0000000000000
ubooo0OonbO0000000 s00O0000

>> h=[1 0 0 0 0 1];
>> sf=conv(s,h);
>> plot(sf(1:100))

conv 0 OOOOOOOOOCOOOODOO

00 8-3 conv([1 3], [24]); J000O00O0UOO convIOOOOOOOOOOOOOOO (help conv O
ooooooon)

hioooooooooboooooooo
uboobOobooobobooodsngoobooOoo

>> n=1:100;

>> Fs=8000;

>> t=0:1/Fs:1-1/Fs;

>> nz=randn (1, length(t));
>> plot(n,nz(n))

>> s=sin(2*pi*440%t);

>> sn=0.8*%s+0.1*nz;

>> plot(n,sn(n))

>> soundsc(sn,Fs)

>> h=ones(1,3)/3
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0.3333 0.3333 0.3333
>> fsn=conv(sn,h);
>> plot(n,fsn(n))

>> soundsc(fsn,Fs)

bboobOr0obOO0OO0OO0OO0ODOO0ODOOOOODOODOOOOD0

0084 00 500000000000 ri0O0O0ODO0ODOOODOOOO conv(ri, h) OODODOOODOOOO
Un0000000O0riO0bOO000O0O0O0DOO0OOO0OOO0DOOOOOOODO0ODOAO

0085 n0000000000sn0000O00O0O0O0O0OOOO
0086 h=1[1-0.98]0000000 sa0000000000000000O7?

OO0 87 000000000000 spectrogram IO 000000000 OO0OOOOOOOOONO

O000oo0o00oo0o0o0ooOo0oU0O0o0ooOOo00 (Dboo0)00Do0ooOO0o0ooOoOO0ooDOooOo
oobooobobooooooooobooobboobooooboooboooooOooooooboobooOoooooon
000 LPF(DO0OU0OOOO,0000000 (D0)00O00oooo)oooo

000000000 8kHzOD2kHz2O00000000D00000 LPFODOOOOODOOODOODOOOO

>> h=fir1(40,0.5);
>> stem(h)

uboooooboooboooooobogobaoo

0088 nl0000 snO00O0O0ODOOOOODOOOOODO?
0089 firt JODODOOGHz DO ODODOODOOOODO LPFOOOODODOO LPFO snO0OOOODO

00 810 fir1 0000000000000 00O0DOO0O0OO00O0bO0O000OO00b00b0bOOo0obOOo0OOn
HPF(OOODOOODOOD)OUUOO450Hz 00 0O0O0O0D0O0 HPFOOOOOUOsn O OO 890 LPF OO
OO0 HpFOOOODOOOO

00 811 00000 HPF, LPFOOOOODOOO0OO0OOODOOOOO
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